KENDRIYA VIDYALAYA SANGATHAN, LUCKNOW REGION
CUMULATIVE EXAMINATION (F=rY qYa) 2022-23

BUSINESS STUDIES (054)
CLASS: XI

TIME: 3 HRS SET-1 M.M:80

GENERAL INSTRUCTIONS:
a) This question paper contains 34 questions.

b) Marks are indicated against each question.

c) Answers should be brief and to the point.

d) Answers to the questions carrying 3 marks may be from 50 to 75 words.
e) Answers to the questions carrying 4 marks may be about 150 words.

f) Answers to the questions carrying 6 marks may be about 200 words.

g) Attempt all parts of the questions together.

qrAey e

a) 37 T 9T H 34 U gl

b) UcA% U & TMH 3h fGT 1T g

c) 3R fered 3R f§g s gl =lRu|

d) 3 31 arel YAl & 3AX 50 & 75 Uscr H g TAhd g
e) 4 3% el UGl & 3AX o@1eTeT 150 2Asai H & Thd gl
f) 6 37 dTel Ul & 3a7 9TeTeT 200 Asei H g Thd &l
g) 9T & T@HT AT P TH AT g FY

1] Earning profit is considered to be an essential ojective of every business because:
a) Itis an important source of finance for meeting expansion needs of business.
b) It indicates that the business is being run efficiently.

c) It helps to build up the goodwill of the business.

d) All of the above.

AT HHATAT Tcdeh STGATT & Teh HAA 36T AT AT § Fifh:
a) Jg IO N fAEAR MEIHABT A Q@@ & & v faa &1 s

HgcaqoT Al &
b) IE T T & o cTI@T FRAIdr & TN ST 6T

C) Ig <IIATT HI HEHTGAT Tl H HGE T ol

d) 3TRAFT T

2] Which of the following is true about statutory corporations?

a) Statutory corporations are subject to the same accounting and audit procedure as are applicable to
government departments.

b) Statutory enterprises are funded directly by the government treasury.
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c) Statutory corporations are public enterprises that come into existence by a Special Act of the
Parliament.
d) The employees of statutory enterprises are civil servants.

oo oTAT & AR 3 Feaad & & Hle a1 gea &2
a) denrfeieh Tovarer 3¢ orm 3R o e gfshar & 3reher g St aveh iy et oX oy
Bl &

b) defeh 3T A MY TSR WAl EaRT fad NI foham ST B

c) dunfasr forereT Araaifash 3cgA § S §dc & T Ay AfAfaas ganr 3iffdca #
A

d) denfae 3eTaAt F Frany RAfae g+ ¢

When a property is insured by more than one insurance (i.e. in case of multiple insurance), the
insurers are to share losses in what proportion?

a) Ratio of premiums received

b) Ratio of duration of insurance

c) Ratio of amount insured

d) Equal Ratio

ST T HUfd &1 Ueh & 31TF SAT (37T s SAT o ATHS ) SaRT SAT [RaAT ST 8,
ol SATRATIT T Foh e 3TdT H TR IS AT BIcll 87

a) 1o AT T 7egard

b) ST <hr 31a &Y T feaTcT

WEICCRUREIRCEIR)

d) FHATT 37T

Such a hundi is in the form of letter or recommendation to a banker for payment of a certain sum of
money to a specified person
a) Shahjog Hundi  b) Jawabee Hundi  c) Zikri Hundi d) Firmanjog Hundi

X €21 Rl do A vk ffese caferd @ veh ffRad TfRr & speraret & faw o ar
AIRer & ¥ 7 gidr gl

JNIEEILKED b) SFaelt §21 c) I dr g2 d) FoRaeTSIT oY

There is a full guarantee by the issuing bank branch about its payment to the payee. So, there is no
risk of getting dishonoured.

a) Bank Draft b) Cheque c) Both(a) & (b) d) None of these

TTCAehcl T SHeb $[ITcleT o TR H SIIehdl doh AT g@RT qoT AIRE gl i,
F 31eX gl FT IS AfQ@A A8 B
a) d&% e b) AH c) gt (a) 3R (b) d) 3T & FIS TeT

Today, customers can also make use of call centres set up by companies to make toll free calls to
make queries and lodge complaints round the clock at no extra cost to them.
Which variants of e-commerce is highlighted above?
a) B2B Commerce  b) B2C Commerce c) Intra-B Commerce d) C2C Commerce
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317ST, AMEh T9=T fordlt JrfaRerd amer & <ieal 6 qoare #a 3R RIS gof wia
& AT e¥er 1T Hier et & forw Fufaat garT Tanfa wfer Fet o1 &t 3uAeT R Tha
&1 $-AY & foheT YhRT I W gISTSe fhaT 13T 87

a) B2B HiAd b) B2C HiFAH c) S¢T-B A d) C2C rad

Which of the following is not social responsibility of business towards Shareholders?
a) To provide fair return on their capital investment.

b) To supply right quality of goods at reasonable prices.

c) To provide information regarding schemes of future growth.

d) To provide accurate information about working of the company.

fAfAfld 7 A i ARURFT & 9fy saaarT fr gEnfors grfica 18 &2
a) 3+Toh Yoil foraer o 3 gfathel geret e

)

b) 3T Hed I ATl T HET T T It T

c) #fasT & TAHTE T TNSATIHT & TR H SATTRRT TGTeT AT
d) YT o FHIFHBIST o TR H el SATABRT TGTeT el oh TolT

8. From the following picture, identify the hindrance of commerce highlighted:
i -
Qe e——
BEEEE mmLs
a) Hindrance of Risk b) Hindrance of Finance
¢) Hindrance of Place d) Hindrance of Time
frfaf@a T A, gedse T v arifoey & aremsif & ggarT o
a)N & fr arer b)faw &1 srer C)FYTT T areT d) FHT Fr aren
9. Ethical enterprises often define the principles of conduct to be followed by entire organization. They
are in the form of written documents and are termed as ‘Code’. Such Code of Conduct is to be
followed by:
a) Top Level b) Middle Level c) Operational Level d) All of these
sifdeh 3¢IH HFEX T HITSeT GaRT Ulelel fhT SiTel aTel TeRT & el
gRT e &1 3 T crade & 9 & gld § 31K 3¢ ‘I8 FeT AT &1 3T e
$T 3R Gfgar &1 gt R ST 8
a) MY TR b) FET TR ¢) IRATeIeT TR d) I Feft
10. Suppose Akash is a shareholders in a company holding 200 shares of Rs. 10 each on which he has

already paid Rs. 6 per share. In the event of losses or company’s failure to pay debts, Akash is liable
to pay:
a) Rs 2,000 b) Rs. 1,200 c) Rs. 800 d) Rs. 3,200
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AT NTAT T 3TeRTer T HU6AT 7 QIURSE &, [T ar 1093 Icdah & 200 MR
S TA N aE TR d T 6 Ui R TH & § | 61 AT HA 5 ol T $ITATT
A H Taherem T FEAfd 3, 3Tehrer ¢araTel #el & T el 8:

a) 2,000 b) ¥ 1,200 c) T. 800 d) % 3,200

1.

Closer computer- based interaction among the other departments makes it possible for the firm to

reap advantages of efficient inventory and cash management, greater utilization of plant and
machinery, effective handling of customers’ orders, and effective human resourse management.
Which variant of e-commerce is highlighted above?

a) B2B Commerce b) B2C Commerce  c)Intra-B Commerce d) C2C Commerce

3= fqaml & 9 Gfess HTYER-ITURA HUh BH & T Herd Fal 3R Aehdl Teer,
T IR AMAN FT H™F IUANT, AEHT & IHE2AT FT THET Tareld 3R FHdT AT
AT YT & 3T Sl UIod HlaT G ST gl

$-HIAT & fhd TRR A FW FEASC fhdl 1T §7?

a) B2B #7 b) B2C im ¢) &2T-B FrAE d) C2C #im

12. | Read the following statement carefully and choose the correct alternative:
Statement |: Before commencement of business, it is necessary to receive minimum subscription by
a public company.
Statement II: The appointment of underwriters is necessary in the capital subscription stage of the
formation of a company.
a) Both the statements are true. b) Both the statements are false.
c) Statement | is true, Statement Il is false. d) Statement Il is true, Statement | is false.
fArafaf@d suet i eareqdes afew iR @8 e &1 93+ HifFT:
FYA |: TTHT Y& A § Tge, bl HGoIleieh U=l GaRT weTcH TR Jree
AT 3T g
YA II: U & ST o Yoil HTHGT TOT H HSWISH Sl Ao ATaeTeh g
a) GlaT HUT T & | b) EIAT U 3T &
C) FYU | IcT §, HU |l ITeld g d) U | T §, HY | TTIT g
13 | Match the columns and choose the correct alternative:
hIeTH T THelleT Y 3 FEY Taehod o
COLUMN - | COLUMN - 11
A. The name clause i) This clause contains the name of the company with

which the company will be known, which has already
been approved by the Registrar of Companies.

B. Objects clause ii) This clause specifies the maximum capital which the
company will be authorized to raise through the issue of
shares.

C. Liability clause i) This is the most important clause of the

memorandum. It defines the purpose for which the
company is formed.
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D. Capital clause iv) This clause limits the liability of the members to the
amount unpaid on the shares owned by them.

Il - | Flere - |

A. FTH 37T i) 3T Follol H 39 ST T ATH BIdT & ToTdh
CaRT g el 81 Hol & & TS &

CRELAT T i) I 3feoe JfbhdA Joit RAfdse wiar &
foret &Fett QR & et & A\ 8 e &
fore 3rferehet giaf|

C. aTfdcT 3T ii) 7g aT¥e HIAT HT FEH Hcd Ol AHeJeSe
g1 TE 3T 3egeT H IR Far § ok
fore &ueht 9o1rs IS &

D. Ioil 31eTetse V) IE Ifede HeEdl & afficd @l 3ol
TTfACT arel AT I Fhrm AR o AfAd

FIATEI
a) A-i, B-iv, C-iii, D-ii b) A-ii, B, C-iv, D-i
¢) A, Biii, C-iv, D-ii d) A, B-i, C-iv, D-ii

14

stores bank account or debit/credit card information or bank information in an
encoded format to allow secure payments.
a) Plastic money b) Credit or Debit Card c) Digital Cash d) Mobile Wallet

&I AT T IFATT S o AT o @it AT Tae/shise IS Hr Sieeh il
IT S SATTHRT T Teehl2g UIRT & IEId AT &
a) TelTiEceh Hair b)isc arsfae s o) Bioed d) HETS diele

15

“ Management of an enterprise should provide opportunities for meaningful work. It should try to
create the right kind of working conditions .” The given statement highlights the social responsibility of
business towards the :

a) Shareholders or owners b) workers C) consumers d) government and community

Ueh 3¢TH & ol ol AdF S & NG Yol dlel Mgl SH FHIA el &

T @ o & R o= i FfR(Tr FEh TR ar w=r U
& fd sgaard i gAfSd gifficd O Wehrer STeldT gl

a) 3ierenRAt a1 F@fAAT b) FRGAT  ¢) IYRFAT d) THR IR G

16

Which of the following is not a characteristics of a cooperative society?

a) Membership is open to all, irrespective of their religion, caste, and gender.

b) The society can enter into contracts and hold property in its name, sue and be sued by others.

c) In a cooperative society, the power to take decisions lies in the hands of all the members of society.
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d) The cooperative society through its purpose lays emphasis on the values of mutual help and
welfare.

fAFTTa @ # O it Hgaprlr ATAT T farerdr 77gT 87

a) He I Tt o forw gell &, Trg 3e7eht &, STy 3R foior oo s 8|

b) WIATT 3rgeer # YA FX Fehell § 3 39el AH I HYTT TG Fehell &, HPGHT X
Hehell © 3R GERT & SaNT HPSHT TellAT ST Hehell B |

¢) GghRY FTATA H 0T et i e GaATS & Faf Heedt & graif # g1t g

d) HEPRT FIATT el 36T & ALTH § IRETRS TG AR HoAT0T & Hedl W
SRS B

17

If business is to operate in a society which is full of diverse and complicated problems, it may have:
a) Little chance of success b) Great chance of success
c) Little chance of failure d) No relation with success or failure

I SIIAT T U AT H T 6T & o) fafaer 3R Sfca gasamsd G axr g, ar
SHA 8l Hehl &

a) holdT ehl el THTIS] b) THeIdT T ST THTTAT

C) 3T THAT T Ha THTTT d) TReIAT IT BT ¥ FIs T AdT

18

Which of the following statement is False?

a) If goods are produced not for the purpose of sale but for the personal consumption, it cannot be
called a business activity.

b) One single transaction of sale or purchase does not constitute business.

c) Businessmen make all possible efforts to maximize profits, by increasing the prices.

d) There is always a possibility of losses being incurred, despite the best efforts put into the business

Ao ¥ & i |1 FUT 38T &7

a) ITG AT T 3cUIee Toshl o 3662  FET Sieeh cITFdId IUHIIT & TIT fohdm SATam
g, dl 58 cATaaTdeh AT T8l gl ST Hehcl ¢ |

b) frshr 1 WIe, ST Teh Uehol olelcel SIAATT T ITSeT oAl hcT ¢ |

o) SHAHTAT HIACT H Fef&r FiTeh, TARKTH o1 & feIT g HevT T ATH i &

d) SHHT # el JAH o 1o §HT §Tial glel ohl THTEAT solt T§eh ¢ |

19

This application involves online trading of securities and other financial instruments.
a) e-bidding b) e-communication c) e-delivery d) e-trading

ufterrere foraar gfaeifaat 3R 3o Rl areet &1 3ieTerss samR A gl
a) §-fafsar b) S-heg TehereT DERECIER d) -cfEar

20

Prabhat and Rishi are doing separate business of installing Centralised Air Conditioning units in
Mumbai. They enter into a partnership contract to install Centralised AC unit in a hotel in Shirdi.
Identify the type of partnership being highlighted in the given case.

a) Partnership at will  b) Particular Partnership ~ ¢) General Partnership  d) Limited Partnership
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T 3R K HIS H AcATSos TR HRATAIT AT ofaTlet FT 3Helel-3elT fSeTaty Y
W% 81 3 RS & o gled A dgargss vl gfae vt et & v v rsiery
3TIeeT F YA A &1 T I AHSA H gISel1se T ST WY WISAGRT & e T ugre
|

a) Weos aEierr  b) afse a@ierr o) aeeT IEier  d) @ifFa Iy

21

Mr. kamal Gupta has recently shifted to Delhi with his family. He and his family is planning to open
bank accounts in HDFC Bank, which offers many types of bank accounts.

e Kamal,who is a businessman, wants to open an account in which amount can be deposited
and withdrawn at any time without giving any notice, so that business transactions can be
conducted smoothly.

e Supriya (Kamal's wife) wants to open an account in which she can keep her surplus money
safe and withdrawal from the account can be made through cheque facility.

e Shivam(Kamal's son) wants to open an account in which he will deposit Rs. 2,000 every
month for the next three years and the total amount is repaid to himwith interest at the end of
three years.

In the given case, identify and explain the various types of bank accounts, which Kamal and his

family members want to open in HDFC Bank.

A FHAT AT FTo ﬁﬁmqm%waﬁﬁ?rf‘m—‘dg@%l dg 3R 39
aRaR TISTEH dF H dF @d Glelel T JISfelr §601 ¢ 8, 5if g TR & deh
QI Yele &l B

o FHHC, SN Teh TAHRN §, Ueh WIAT Wikl algal & forad foar fondr gee
& frdr st gag ofyr a1 3R Aol a7 Fdr g aife SaaR e
A & A fRar S @l

o AT (FHA A Ucell) UF WIAT Wielell AET & TTH dg 30 A
¥l B AT @ dh AR @id @ @l 9 glawr & aegsw @ & s
b

o TAGH (FAS &I ) U TIAT Tlelell dledl & oigH dg 2,000 9T 37dTel
et asf & faT gX @@ oA wWT AR AT el F AT H For AR
TS & | e & S g

feu v ATAES H, e R & S @rdl i UgIT U SITEAT Y, ST SHAT

3R 39 IRER & ey TEEUHRdT 9 # @idar aEd &

22

Discuss the difference between e-business and traditional business on the basis of
i) Organizational structure
i) Opportunity for inter-personal touch and

iii) Nature of human capital needed
$-egaary 3R IRURS sgaarT & i X 9 T Y|
i) FITSeATcHD TXTT

ii) TR -cTTF T TTL o 3T 3R
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il) AT it I Fepfdl T JTaRIehdr

23

Manan and ketan decide to start a partnership business of manufacturing computer keyboards.
Manan is of the view that they should have a written agreement and they should also register their
partnership firm. However, Ketan wants to have a verbal agreement. Manan explained the
consequences of non- registration to Ketan, after which Ketan agreed it. State the consequences of
non- registration of a firm which were explained by Manan to Ketan.

Helel AR dheleT o HTYEX HIaNS Fellel T AISIEGRT SHAHT Y& el T el T |
FIeT T faaR § 6 3% urd veh fof@a gasiiar @lar aifgw 3R 3¢ 319eT arsiery
e T T TSiehc AT MU FTelleh, Shelel FIWh FASIIAT LT A6 | Helel o
el T GolTeIUT o e o IROTAT & TR & aaraT, foges 1€ shdel 39 oI Taiy &7
IRT| Tk B & IR-GSHIOT & IROUTAT FT Seot@ AT AT At GIRT el I
THSTT 3737 27

OR
Climax India Private Limited was formed as a Private Company by a group of five friends. There

business has grown considerably over the years. Now, they want to expand their business and for

this, they need more funds. They are planning to convert their company into a public company and
raise more funds through issue of shares. Mention any six privileges that the company will have to
forgo as a private company after conversion.

FASHEH 33T YTgde TATHCS T IS II<T Il & HHE GART Ueh Tolail shdell o &

A fohar a1am U1l o $o auf § g8 FRIGR ST 967 ¢ 379, T 39 FaqT H
JoTT TEd & 3R 3TF v 305 310 g T 3MaTShar §1 T 39T FYT Fl Th
Ao el # deoel 3R A AR 0 3HRF Ul ST T ANsfell &1 3§ 8|
fregi o AAWERT &1 3eor@ T Tieg AGAAF FHUell Tolel h qIG Toloil
YAl I BISET BT |

24

The Government planned to begin a Road Project. The Government needed management specialists
and financial help to complete it. The Government contacted the private sector to fuffill this
requirement. Now, this project will be completed jointly by both the public and private sector.

a) ldentify the form of enterprise.

b) Explain any two features of such enterprise.

TIHR o Teh S TRASTAT YE et T FNSfell 718 & | TH QW A o [T TR
etreT faAT=AT 3R e #ee T ST ATl S8 ITaRIhdT &l G el o Tolv ALHR
o fSlt &1 & @9 fohar| 319 Tg IRAISTET drdeifae 3R fAsh et &t garT @y

T F G T ST
T) 3¢IH & &Y & Igaled H|
) 0 3¢TH $T Tohogl & TaAwan3it $r sarear fifav]

OR
Why Multi National Corporations(MNCs) are in a position to exercise massive control on the world
economy?
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TGOS fAaTH (THTeTH) faeT 3rdicgaryr W) o3 Y9 W A9F0T e v Tufa &

25 | Briefly discuss the following types of banking services:

a) RTGS b) Credit Card c)NEFT  d)UPI

fArafaf@d yeR Hr dfher qant Hr dag F gt Hfow:

a) IRASNTE b) »fee w18 C) TAS UH Y d) gdrame

OR

What do you mean by ‘Telecom Services'? Discuss the various types of telecom services.

IR HAT ¥ 319 T AT ¢ ? [t TR 1 qraar Farsit &1 fad@e Hifaw|
26 | Govind is a manufacturer of readymade kids garments. He sells his products through various dealers

across the country. However, his sales are decreasing over the years. Recently, his wife gifted him a
jacket, which she had ordered through Myntra (an Online Shopping site for fashion and lifestyle). This
gave Govind an idea to start selling his products online. State any four benefits that Govind can get
through e-business.

afde WEAs fhgd e & fAATar &1 g ¢ o 7 faffieet SorT & Are#H s § 39
3cUTe, S g1 gleliteh, 3aTehl forshl ol s st & e @Y 81 gTel &1 &, 3eTehl Uoall o
3o U oiche 3UgR H & off, 5 38l Myntra (thered 3R Sfiaet el & fow e
3TAcISeT QMU TBT) & ATLIH H S fhar AT 394 Nfdg &I 3Yed 3cUrar Hhr
3feTelTgeT foshT Q& el T TaaR 3TT| $-STGTH o HIEIH § MTde &l Ao glat ared
gl IR STHT T 3ear@ HITAT|

OR
Unique enterprise is dealing in auto spare parts. With the expansion in business the enterprise found
that the decisions are delayed and level of coordination is coming down. The CEO of the company
called for a meeting of all managers. Ayush, a newly appointed manager suggested that company
should have its own internet so that all the employees can interact and pass important information to
each other through internet. Even short meeting of different departments can be conducted through
Video conferencing to take fast action. The CEO liked the idea and installed an internet connection
for connecting all the employee on line.
a) Which type of e- commerce is suggested by Mr. Ayush? Explain.
b) Also, explain type of e-commerce which are not mention in above para.

fAsh  3cTA 3T TUI UIEH F 1A Y @I & | SATIR H FIEAR & |1 36TH o 91
for fAoTar & 23 8 W § 3R GHwaT T TR A 37 W 81 FUar & T3 oF gt
TShl T S Tells| APV, Teh AdioIgerd Tatieh o GoAd &A1 fob Hoeir ol e
geteie g AIfRU aifeh woll oY ge¥are &Y T 3N ST & ATH § Uah-gay
I HgcdqUl PRI & Heh| caRed ®Ras & v A [qermen & og s o
AT FORFHT & ATETHT T FS FT Fhair| HS3T & T8 f9uR gde 3mam 3R 3=
T3 FAATRAT Y 3TASA S5 & fIT Teh SeIeie oIl TATAT fhaT|

a) AT YV o oh e TehR o S-hIAT T FeTa 16T 57 FASSY |
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b) TT &Y, 3T S-PIAT & YhRI T SITEAT Y ToleTahl ool S RT 7 8T fhar =ar
gl

27

Shreya and Vrinda joined together and established a partnership firm dealing in electronic goods.
Each one of them looks after one particular department. They had made it certain that every Saturday
they would hold a meeting and share the information on the activities of their respective departments.
In one of their meetings, they discuss about some of the areas on which they should focus their
attention. Shreya says, “we would focus on increasing productivity and profits through the best use of
available resources.”

On the other hand, Vrinda says, “we should keep clear of the anti-social activities like adulteration,
hoarding and profiteering and contribute to the benefits of the society like opening charitable
dispensary, education institution etc.

What are the objectives of business Shreya and Vrianda focusing on? Explain.

AT 3R a7 U WY 53 T 3R Felareliolen QAT 7 H1H Hlel dlell Teh HHGRT Bal
T FATYAT T | 398 § Ycdeh Ueh TAAT TIHTT S STHTST Il § | 3ogied T GioARaed
fRam o1 o I Icdeh AfIaR T Teh dosh el AR 39a1-379= faamen fr aifafafaar &
SR T HTSHT HYaT| 3T Toh doch H I e O &1 & IR H well el & Tl W 3¢
39T €T shigd AT IMRT| AT Fgal &, "8 3USY TATYAT & Fafdd ITANT &
HIEIH § ScuTeendl AR FAATH &l el T &A1 SHigd Hiar|"

afafaferal & gy tearr =fgw 3N aaTe sttwerer, Rem Fearst 3nfe @rerst S wa e
& oIt I eI ST AR

AT AR FeT TaaTT & fohet 3T W AT higid Y 7§ 8?7 3eold Sl |

28

A group of people in a locality of Delhi used to go for a walk in the morning. After the walk, they
would often sit together and discuss the subjects like politics, demonetization, elections, market
prices of different goods etc. There were about fifty persons in this group. One day, instead of other
subjects, their focus of discussion was ‘Market Prices of Different Goods'’. During the discussion, the
emphasis laid on the point was that goods become very costly by the time they reach the consumers
after getting transported from the producers. Consequently, everyone's budget is getting disturbed. To
get rid of this problem some people suggested that they should join together to form a society. The
society would sell the goods to all the members as per their requirements after buying them in a
large quantity directly from the producers. This suggestion was appreciated by them. They all
become members of the society and encouraged other people also to become its members. In no
time, 100 members assembled and the society was formed. The idea of forming the society
immediately proved to be successful. Now their budget become balanced. A special characteristics of
this society was that apart from its members it was also sold goods to the other people of the society
at cheaper rates. All of them were very happy with the formation of the society.

a) ldentify and explain the type of cooperative society form by them.
b) Under what Act the society must have been formed?

c) hat is the liability of the members of the society so formed?
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feeel & Teh Aged # Sl & Teh HHE Hog Cgolel STar AT| I & 16, I 3HFE Th
1Y FSHT ASTAd, TAFETRI0T, Loira, fafdet a&q3it & ook o 3nfe; fawat ox ==l
A U1 $H FHg H oRIHIT T ST | Teh & 31 TANT & T Sefeht =l ahr
ehd ‘TaffieeT aE&3il & SIeTR Hed' 9 AT T & SRIT $8 a1 W S fem arar o
3cqTGehl ¥ IRage é?aﬁaawawﬁﬂwﬁ%qgua &, dd oo ATl g Heam ar

SATT 8| TSI, T3fY T SoT€ TSN I@T §| 3 FHATAT A TEhRT el o fIT FHa Slen
= geia e & 3¢ Ueh A1y Ao Ueh AATY qere wifgu] Scdreent & HIY 98y
AGT & Ties & dlc GiATT @8l Teaat &l 3oTehl 3MaRIhAT & TR A
S| 3eTeh S GATd I W61 1 15| 9 Tl FfATT & Feeg a1 o § 3R 3
AT T 8 5T T Folel & AT NeATRT A &1 FS 8 THT H, 100 HEET FHeS
g 9T AR AT o ITeeT R ram| AR Seret &7 faar qia awer @i g3
IS SoTeT Soie AT 81 I1T §1 58 HATT ol Teh faaw faRIvar Ig off foh 5@ 3r0a
AT & 3TeATal TATST & 31T odlt i) AT AT W 1A Jaad | 3 @i afafa
% ISeT | TgT G |

a) 3eTch GART SelTg 35 TEHRT ATATT & ThR I Tgdlel JR THST|

b) fore TOTATH & Tgd GIATY 1 TaeT o 1T ghem 2

c) 39 YR Ifod AfATT & deeai T FATgIfAcd g ?

29

Bharat heavy Electricals Limited (BHEL) owned and founded by the Government of India, is an
engineering and manufacturing company based in New Delhi, India. It was estabilished in 1964.
BHEL is India’s largest power generation equipment manufacturer. It is managed by the board of
directors nominated by the government. As Government is the majority shareholder, it exercise
control over affairs of the company.

a) How will you classify BHEL as a form of public sector enterprise?

b) Also, state any three merits of this type of public sector enterprise.

R gdl Saifdgwhed fAfAcs () R TSR & TaTfAca 3R Tufta, a3 e,
RT # BUd s soifaaRer 3R FATor Fusiy §1 38 1964 & Ta1fd forar ar=r ar| o
HRA T TG F3T ToTell 3cUTGeT 39T fAATAT & | SHHT TeieT EXHR GART ATTHT
fAcere Az gan fnar arar &1 9f TR dg(—i(&qch RYURF g, SATAT T§ H9=AT &
AT W =0T T@d Bl

a) 31T el &I Aol (eieh 817 & 3TH & & 7 HH Fafiapd Har?

b) AT €Y, $H FehR & A sTioteh &1 & 3ETH & feheel 3 0T T Soord HITAT|

30

Distinguish between Private Sector Enterprises and Public Sector Enterprises on the basis of:
i) Ownership

i) Capital

iii) Management and

iv) Freedom of Management.
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oIS 817 o 3T 3R AT 419 & 3eTAT & 9 fAFaolidd o YR W HR
W T A

i) TerereT 3R
iv) JeereT T TadAdT

31

Saurabh has taken fire insurance policy of Rs. 9,00,000 for his factory. Due to fire, he suffered a

loss of Rs. 6,00,000. He claimed the loss from the insurance company and he gets the compensation
within a month.

Goods that were lost by fire were scrapped for Rs. 70,000. Saurabh wants to keep this money with

himself, while the insurance company claims that Rs. 70,000 should be handed over to the company.
a) ldentify and state the principle of insurance which is applicable in the given case
b) Also, explain the Principle of Insurable Interest and Indemnity with suitable example.

ST o 9 9,00,000 Fr oA AT Giferdl I FRATT & T ol g1 30T ofdled &
38 6,00,000 AT T T T gIHT| 3T AT HAT H T T aTaT fohaT 3R 38
Teh HLle o HIcR F3MTaST fAer 2|

3T F STl 70,000 FIF T ATl WS 81 I1AT| ek 3T A Y 319eY ITH IWG=T ATl
g, STa{ch STHT ShYsil T GIAT & o &. 70,000 FY=AT T WY STl AR

a) f&T 1T AT # 9] g arer AT & Rgyia FF ggare R Jdw

b) S 3TeITaT, 3UYerd 3GIEIVT & |1 AT Aoy a3 arfagfet & Rigura i sarear
|

OR
Ankit's warehouse was covered by a Fire Insurance Policy of Rs. 10,00,000. Two years back, his
warehouse caught fire. Ankit immediately called up the nearest fire station and started removing the
goods from the warehouse in order to save them from fire. He took all reasonable steps to minimize
the loss or damage. As a result, the actual loss by fire to him was Rs. 3,00,000, which could have
gone up to Rs. 7,00,000, if he had not acted as a prudent person. After scrutiny of the loss, the
insurance company handed over the cheque of Rs. 3,00,000 to Ankit.

a) Identify and state the Principle of Insurance which was followed by Ankit in the given case.
b) Also, explain the Principle of Proximate Cause and Contribution.

3ifehd & IMET T 10,00,000 TG T 7T3T SIAT GIToRIT GART Hax TohdT IAT 2T| T ATl
Tl 3oloh el H AT 97 15 AN| Jfhed & It ASTEIhl BRI T T BleT ham
3 3T § T2 & AT AMGTH & QAT Fehrerer q& AT f&AT| 3egiel sendret AT &ifey
H HH B & AT G 3T A 3610 AdISTd, 38 3T & arEddeh Jehdred
3,00,000 & T 3| St 7,00,000 F9I Th ST bl AT, 3PN 38 Ueh fAdhquT afed
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G H HIH g1 TRAT BIT| Jhdlet T ST & o1 AT FHTelr o 3,00,000 T92 HT qh
3ifard &I gidr|

a) I1AT & 37 TAqUId $T 9gae A 3R 3T Seot@ X SHaT QU T Al #
3ifehd AT gTelet foham araT |

b) &1 &Y, Aehedd HRUT 3R 3 e & fAeyrd $Hr arear Hi

32

Recently Gumbar Limited has been in news for being involved in many wrong activities. The
promoters of the company have been accused of entering in secret contracts to make personal
profits. There is a case pending against the company, for non compliance with certain provisions of
the Companies Act. The employees of the company have not received salary for past 2 months as
the company claims to have suffered major losses.

a) With reference to the above lines what is the core concept which helps in determining whether a
particular act of a business is right or wrong in the eyes of society ? Identify and explain this concept.

b) Describe briefly the various elements related to this concept. (Any four)
gTel &1 & IR TAfAs 3 arora arfafaferat 7 anffrer glet & SRoT Tl & @1 &1 Hei &
THIEY TR TSl omeT A & AT o ]t A 1 3RT 9MAT I=AT §| =it
3T & Ho TTTUTAT HT HedTeleT o HIA & AT SHeA & Wellh AHAT i &
HYA & HHAATRIT 1 TSl 2 AT T ddeT AT [Hell & FIfh HUeAT T raT & foh 39
3T STH T EIT &
a) 3T GlFcdl & HesT H ag FHel TURUN AT § S Ig AR el H Heg e
t T cuaa &1 Fis [AAY FF AT T Ao & & & IT ITd? 5T 7TUROT
ugdTe 3R FHST|
b) 3 ITURYN & T [afFfeeT dcal T T&IT H JUIA SISV |(FIS TR)

OR
Business is a social institution. It is operated within the society, for the people and by the people living
in the society. It exists, survives, operates and grows in the society. Therefore, it has certain
obligations towards society, which are known as social responsibilities. A business must always

recognize and understand the aspirations of society and try to meet them. Do you agree with this?
Give five points to justify your answer.

SIIHIT Uh Ao TEAT &1 Ig AT & MR, 9l & T 3 Jdr= # 3| aral
ATt gaRT FETferd fohar SiTaT §1 I8 §aATST & His[e 8, Sifad W@dr &, Fdiiod gidr &
3R T 81 AT, TATS & 9 38 FS alAcd &, Slee TSR STReldcd & &9
H ST ST §1 Ueh cIaaTd i AT HTST Sl RIS &l IgaTeTar 3R GHSTT
AT 3R 3¢ T A T I FAT AMGT| FIT 3T $H ST § FEAI &2 3794 3R
T gfte & fore urer swror S|

33

“‘After the company is incorporated, the next stage for the public company is to raise the necessary
capital”. In order to raise capital, a public company has to follow some procedure. Discuss the
procedure to be followed by the company.
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"l & fAIHA & dle, AldsTioleh HUeT & ToIT AT TIOT 3aRTh Yol ST & |
goll S[ee & AT, Teh ATdstieleh hsil T o FfhdT HT Alelel AT ISl &1 FHdail
GART 379ATS STl aTell Ufshar 9 T Y|

34

Sarika is running a organic store under the brand name, ‘Earth’ in a popular market in Dehradun.
She acknowledges that risks in her business cannot be predicted with utmost accuracy as business
environment is dynamic in nature. Therefore it is not possible to predict future events with accuracy
like, change in consumer preference, increase in competition, natural calamities etc. Also, she feels
that the risks in business can be minimized, but cannot be eliminated all together. As her business is
operated at a small scale she feels her quantum of risk is relatively low. At the same time she truely
believes in the saying that ‘no risk, no gain’ is applicable to all the business organizations. Identify
and explain the various characteristics of business risk being describe in the above paragraph.

IR SEXTGeT & Teh el TR 7 'Y 5118 ATH § Teh 3T TR e WY &1 a8
TR Al § o 3eTeh cFadrd # SNTEAT T YaTefATT Hcdd Félehel & AT gl
oTaTTAT ST Hehell &l {eh TGS aTcATaR0T TSl Tehic &I g1 safav, sfasy
AT I FlhdT & 1T ATTSIarolt FTaT THT Taf g, o8, STHFAT aAIdr H
deelta, gfaeael & gefe, grpfde 3MTerd 3nfe| A €, 37 eI ¢ o cxaa A
ANTEH Y FF fHAT ST TohaT &, AfheT Teft Y U T ATST T TFAT ST FoheT B
<feh 3oTehT SHGHTT BIC YA W HATTAIT BIcdT &, FHTAT 3og ofaTdll & Toh 3eTeh SANTEH
oY HTAT 3T9&TThcd A | AT &1 I 58 Hgrdd A oY faeard s § o, no risk, no gain’
St for wel caraan¥s Herasl 9 o) gidT &1 39 WEne 7 it caraa@s
STEH T [afFfeet A3t S ggar 3R gAsmT|

B R R
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